## **RCF Scripps Mini Survey Results UPDATED FINAL VERSION**

## July 29, 2021

RCF Response Rate

	Finished the Survey*	Partial response (>= 30% Progress and have usable data more than the facility name)	Total respondents	# Invited to Participate	<b>Response</b> rate
RCF	281	6	287	802	35.79%

\*" Finished" means the participant clicked through to the end of the survey and submitted it. Participants who did not finish their surveys did not see all of the survey items and left the survey idle.

## Finished

Finished	Frequency	Percent	Cumulative Frequency	
0	6	2.09	6	2.09
1	281	97.91	287	100.00

## Progress

Progress	Frequency	Percent	Cumulative Frequency	Cumulative Percent
30	2	0.70	2	0.70
78	2	0.70	4	1.39
90	2	0.70	6	2.09
100	281	97.91	287	100.00

	Sample (n=287)	Population (n=720)	Data Source
	Percent or mean	Percent or mean	
Chain-affiliated	54.94%	61.22%	Biennial Survey 2017
For profit	65.67%	73.00%	Biennial Survey 2017
Not for profit	33.91%	26.84%	Biennial Survey 2017
Government	0.43%	0.16%	Biennial Survey 2017
Number of	86.78 (sd=55.61)	80.40 (sd=52.86)	Biennial Survey 2017
licensed beds			
Owner-operated	91.85%	87.44%	Biennial Survey 2017
Part of a CCRC	23.61%	21.54%	Biennial Survey 2017
Memory Care	33.33%	32.73%	Biennial Survey 2017
Unit			
Urban	76.86%	74.17%	RUCA
Large Rural	14.90%	18.06%	RUCA
City/Town			
Small and	8.24%	7.78%	RUCA
Isolated Small			
Rural Town			

Structural Characteristics of the RCF Sample Compared to the RCF Population.

Note. This table reflects data from the Scripps Mini Survey, the 2017 Biennial Survey of Long-Term Care Facilities, and the Rural Urban Commuting Area (RUCA) files. Not all RCFs answered all items here, so values are based on those who responded to each item.

|--|

RCF Survey Data: Descriptives (Data are cleaned 1% at each tail)							
	Minimum value	25% Q1	50% Median	Average	Q3/75 <sup>th</sup> percentile	Maximum Value	Number of RCFs who responded
Total number of resident days in the period (Q1 2020)	0	1,269	4,196.5	4,271.1 Sd= 3305.46	6,602	14,942	222
Total number of resident days in the period (Q1 2021)	0	1,233	3,620	3,692 Sd= 2798.82	5,476	11,713	223
Operating revenues (not including unusual revenue sources such as federal pandemic relief funds, BWC dividends, etc.) in Q1 2020	\$0	\$ 295,263.00	\$624,619.00	\$779,326.23 Sd= \$683,410.31	\$ 1,084,340.00	\$4,316,256.00	201
Operating revenues (not including unusual revenue sources such as federal pandemic relief funds, BWC dividends, etc.) in Q1 2021	\$0	\$ 264,500.00	\$558,919.00	\$679,054.47 Sd= \$ \$604,829.06	\$ 922,657.50	\$3,626,251.00	204
What was the percentage change in your operating revenue between Q1 2020 and Q1 2021 (not including unusual revenue sources such as federal pandemic relief funds, BWC dividends, etc.)?	-90%	-21.90%	-13.35%	-10.01% Sd= 27.30%	-3.63%	166.08%	192
Total labor costs in Q1 2020	\$0	\$ 154,000.00	\$288,104.00	\$362,518.04 Sd=\$321,798.66	\$ 501,451.00	\$1,916,043.00	205
Total labor costs in Q1 2021	\$0	\$ 151,325.00	\$290,441.00	\$360,039.43 Sd=\$295,707.60	\$497,778.00	\$1,849,383.00	207
What was the percentage change in your labor cost per resident day between Q1 2020 and Q1 2021?	-78.81%	2.32%	15.24%	16.12% Sd=27.49%	29.70%	172.30%	192
Total agency costs (if no agency costs, please enter "0") in Q1 2020	\$0	\$0	\$0	\$3,140.36 Sd=\$10,686.74	\$0	\$78,385	220
Total agency costs (if no agency costs, please enter "0") in Q1 2021	\$0	\$0	\$0	\$10,338.99 Sd=\$32,695.38	\$3,051	\$267,107	221

What was the percentage change in your average monthly agency cost between Q1 2020 and Q1 2021?	-100%	-93.51%	4.99%	886.86% Sd= 3,343.65%	171.88%	17,824.01%	42 (only can be calculated if reported using agency staff in Q1 2020)
What was your starting hourly wage for resident care assistants on March 1, 2020?	\$8.80	\$10.25	\$11.00	\$11.18 Sd=\$1.24	\$12.00	\$14.75	245
What was your starting hourly wage for resident care assistants on July 1, 2021?	\$9.25	\$12.00	\$13.00	\$12.72 Sd=\$1.48	\$14.00	\$16.50	249
What was the percentage change in your starting wage for resident care assistants between March 1, 2020, and July 1, 2021 (not including special payments such as shift differentials, hazard pay, etc.)?	0%	6.12%	12.36%	13.77% Sd=10.37%	22.73%	44.44%	245
For your facility today, please provide: Number of open positions across all departments	0	3	6	8.83 Sd=7.81	12	41	244 (removed erroneous answers that were less than assistant + nurse openings)
For your facility today, please provide: Number of open resident care assistant positions	0	2	3	4.24 Sd=3.80	6	20	253
For your facility today, please provide: Number of open nursing positions	0	0.5	1	1.89 Sd=2.11	2.5	16	254

In the most recent month for which financials are available, did you have a gain or a loss?

33.99% Gain (N = 86)

Total number of RCFs who responded to the item = 253

RCFs:

In the first quarter of 2020, **81.82%** of RCFs (n = 180 out of 220) reported spending *\$0 on agency staff.* This percentage *decreased* to **66.06%** (n = 146 out of 221) in the first quarter of 2021.

Please list SNF and RCF facilities that you know have closed in 2021 by name and city/county (not limited to facilities you operate).

closures_2021	Frequency	Percent	Cumulative Frequency	Cumulative Percent
	1	1.59	1	1.59
0	1	1.59	2	3.17
Bowling Green Care Center, Bowling Green/Wood county This is the only one I know of.	1	1.59	3	4.76
Carriage Court of Marsville	1	1.59	4	6.35
Colonial Manor - Loudonville	1	1.59	5	7.94
Colonial Manor- Loudonville	1	1.59	6	9.52
Colonial Manor-Loudonville	1	1.59	7	11.11
Courtyard at Lexington. Salem- Columbiana County	1	1.59	8	12.70
Do not know of any.	1	1.59	9	14.29
Fairhaven Assisted Living	1	1.59	10	15.87
Greenewood Manor, Xenia, OH, Greene County	1	1.59	11	17.46
Greenwood Manor in Zenia Ohio	1	1.59	12	19.05
Healthcare Center at The Forum at Knightsbridge 48 beds Columbus Franklin County	1	1.59	13	20.63
I don't know of any.	1	1.59	14	22.22
N/A	8	12.70	22	34.92
NA	3	4.76	25	39.68
None	5	7.94	30	47.62
None Known	1	1.59	31	49.21
One in Andover, Ashtabula County Four in geuaga county All homes are small family owed	1	1.59	32	50.79
Parkcliffe Community#3 Tol. Lucas Parkcliffe Comunity#4 Tol. Lucas Adult Group Homes part of the seven building community with Parkcliffe Advanced Care	1	1.59	33	52.38
Piqua Manor Randell Residents Troy Rehab Brookdale Springmeade Koester Pavilion	1	1.59	34	53.97

closures_2021	Frequency	Percent	Cumulative Frequency	Cumulative Percent
St. Ursaline Health Care Center	1	1.59	35	55.56
This one if no relief soon!	1	1.59	36	57.14
Unfamiliar	1	1.59	37	58.73
Unknown	3	4.76	40	63.49
Unsure	1	1.59	41	65.08
We are not aware of any closers	1	1.59	42	66.67
We closed. Our name was Charis.	1	1.59	43	68.25
do not know	1	1.59	44	69.84
n/a	2	3.17	46	73.02
na	3	4.76	49	77.78
none	6	9.52	55	87.30
none - several have sold but no closing	1	1.59	56	88.89
not known	1	1.59	57	90.48
unaware of any closures	1	1.59	58	92.06
unknown	4	6.35	62	98.41
unknown for certain. lots of discussion.	1	1.59	63	100.00